Foundations of Engineering


Chapter 19: Accounting for Linear Momentum


Student-Accessible Questions











TRUE/FALSE QUESTIONS





1. A white 1-lbm billiard ball is traveling at 2 ft/s and hits a black 1-lbm billiard ball that is stationary.  The white ball continues moving in the same direction, but at a reduced velocity of 0.5 ft/s.  Then, the final velocity of the black ball is 3.0 ft/s.       





	a. true    


	b. false








MULTIPLE CHOICE QUESTIONS





1. To measure the mass of an object, the object and a 1.00-kg mass are held at rest on a frictionless surface with a spring compressed between the two objects.  When the system is released, the 1.00-kg mass moves to the left with a velocity of 3.20 m/s, and the object with unknown mass moves to the right with a velocity of 1.60 m/s.  What is the mass of the object?





	a. 3.20 kg	


	b. 2.00 kg	


	c. 1.60 kg	


	d. 1.00 kg	


	e. 0.50 kg





2. A 9650-lbm space ship is traveling toward the moon at a velocity of 63,500 ft/s.  At the rear of the space ship, a rocket fires for 4.00 s with a thrust of 45,000 lbf.  What is the space ship velocity (to 3 significant figures) after the rocket fires?





	a. 19,500 ft/s


	b. 62,900 ft/s


	c. 63,500 ft/s


	d. 64,100 ft/s


	e. none of the above





WORK OUT QUESTIONS





1. A 4000.0-kg space ship is traveling toward the moon at a velocity of 20 km/s. At the rear of the space ship, a rocket fires for 2.00 s with a thrust of 200 kN.  What is the space ship velocity after the rocket fires?


